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SR L A A B,
1.610 X 1.460 x (0.170 + 0.172) 0.80
1,520 X 1.150 % ( 0.131 + 0.133) 0.46 n
V3 1.26
4) 2/))-MEFE
At
FE (o ck=24 N/mm?) 352.80 + 1.26 354.06 p
KR (o ck=30 N/mm%) 189.29 n
SV 543.35 n
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1
— AR
4.500 X 11.500 X 2 =1 103
MR (R=2. 00m)
/2 X T X 4.000 X {1/2 X (11.468 + 11.500 )} =| 72.
/2 X T X 4.000 X {1/2 X (11.532 + 11.620 )} =| 72.
A1 =] 248.
2) JERR
— R
(19.500 + 8.000 ) X 2 X 2.500 =| 87
A2 =| 87
3) HEEa)) -]
— AR
( 1.610 + 1.460 ) X 2 X (0.170 + 0.172 ) =| 2
(1.520 + 1.150 ) X 2 X (0.131 + 0.133) = 1.
A3 =| 3
4) WPEBE AR
— AR
YA = 103.50 + 87.50 + 3.51 = 194.
MR (R=2. 00m)
A = 7216 + 72.73 =| 144.
RPEAEAFT XA =] 339.
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§ 5. HAfEHF

o ck=18 N/mm’ t=10cm

( 9.500 + 2 X 0.100 ) X ( 8.000 +

2
-n/4 X 1.200 X 9 K

{( 9.500 + 2 X 0.100 )

+  (8.000 + 2 X 0.100 )} X

FHARA  t=20cm

A = ®La))-tEFEXY

2

2

X

X

0.100 )

79.54

-10.18

0. 100

69.36 n

69.36 mn
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§ 6. &L

1) SD490

& (kg)

A AERE (&)

D51

D41

D38

D35

D32

D29

D29~D32

>
10
+

2) SD345

& (kg)

AR (&)

D51

D41

D38

D35

D32

10467

127

D29

D29~D32

10467

127

D25

D22

18275

D19

2592

D16

1581

D16~D25

22448

D13

>
10

At

32915

127

- TR B

D16

— 349 kg
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1) sty A rt' A ML (¢ 1200/ ¢ 1000)

(] HAL | —AR%Y KSR i B
Z N 4 EN — 9
T =2 m 21.0 189. 0
Bt | t=22mm | m 9.5 85.5 SKK490 #}fiZ2ikd
fé@ HroAt | t=15mm | m 2.5 22.5 SKK400 4} fiZe
E Bt | t=15mm | m 9.0 81.0 SKK400 422
it m 21.0 189. 0
z2 R m 3. 66 32.94
1 LR — i & m 19. 50 175. 50
it
£ [ b A S i 5 5= m 2. 10 18. 90
at m 25. 26 227. 34
ZEYRER | — 5 —
INEFEHNAE | — & | — 19 —
SeumHEl | — 64 —
ZEYEES |t 0.71 6. 39
A MEME | —E |t 7.61 68. 49
Jednih |t 4.10 36. 90
AN fE FH £ kg 124.9 1124. 1 oAb S A
k&P & T 1 9
% %+ m’ 11.4 102. 6 RHEI 10>40%
s a7 U — m’ 1.45 13.05 o ck=30N/mm"
#e D38 kg 1286 11574 SD490
;Ei D13 kg 137 1233 SD345
G
ub S kg 1423 12807
/?;Z;Z_fm/ﬁbﬁf o 5.5 49.5 294 - RS




oAl [P VRO - ¥ =
2) $HEIEA/ T
B : Ds 1.200 m
MERE : Dp 1. 000 m
MERE : Lp 21.000 m
JEHER : Le=L1+L2+L3 25. 260 m
BEALASCsRE R © L3=1. 5Dp+0. 5Ds 2.100 m
H#E . L0=0.5Ds 0. 600 m
BUL A« L2=Lp+L0-L3 19. 500 m
ZeREE L1 3.660 m
PEER: (m) | INEE PR NAHE
Ze i 3. 660 5
AR — i = 19. 500 19
LA S i e 2. 100 64
B 25. 260
3) TAVMER & Fi1 AN & A2 MEFAR K=0.15
ZefiEs (L1)
1/4 X T X 1.200 X 1.200 X 3.660 X  0.15
X (1 + K) = 0.71 t
AR AR (L2)
1/4 X T X 1.200 X 1.200 X 19.500 X  0.30
x (1 + K) =| 7.61 t
[ AR SE s (L3)
1/4 X T X 1.200 X 1.200 X 2.100 X  1.50
X (1 + K) = 4.10 t
AV bR XV = 12.42 t
4) WINEAGE & A1 A O IR EE & K2=0. 015 (15mEA_E30mAi)
ZefiEs (L1)
0.71 X 0.015 X 1000 =| 10.7 kg
AR AR (L2)
7.61 X 0.015 X 1000 =| 114.2 kg
UM E SV =| 124.9 kg
5) kT
INE) SN




oAl [P VRO - o &
6) T
FL1AR%Y
(1) #EAl
ZefiEs (L1)
1/4 X T 1.20 X 1.20 X  3.66 = 4.1 p®
AR xR (L2)
1/4 X T 1.20 X 1.20 X 19.50 =l 22,1 o
[ AR SE s (L3)
1/4 X T 1.20 X 1.20 X 2.10 = 2.4 p’
> =| 286 n
(2) %%+ ()t R0 40%)
28.6 X 40% = 1.4
7) HREsass)-h o ck=30 N/mm’
Vo= 1/4 T X 0.956 X 0.956 X 2.020 =| 1.45 p’/k
8) IMithyMiLZE (223 - HEEES)
1/4 X T 1.20 X 1.20 X  3.66 = 4.1 p®
1/4 X T 0.956 X 0.956 X  2.020 = 1.4 p°
TV = 5.5 m’




10) JNEE A NAE

(1) Z=2Yaii

tEES | LE N || N
1 #+ 2 0. 26 0. 52
2 HhtE+ 2 0. 40 0. 80
3 W+ 6 2.20 13. 20
4 W+ 3 0. 80 2. 40
B 3. 66 16. 92
JIEE P24 N A N=16.92/3.66=5
(2) [EfEAR—fB
tEES | +H N || N
1 WE A+ 3 3.30 9.90
2 REVE £ 12 0. 30 3. 60
3 HhtE+ 3 2.20 6. 60
4 wE + 14 7.30 102. 20
5 W 35 5.50 192. 50
6 Wi 64 0.90 57. 60
B 19. 50 372. 40
JNE P-4 Nl N =372.4/19. 50=19
(3) [k s e s
tEES | tH N | | N
1 Wi 64 2.10 134. 40
it 2.10 134. 40
JINEE P24 N A N=134.40/2. 10=64
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BRI | B | B | 40 | W | B8 | 0 | b | T 0 | s | | SR RS RO LIk R | |0 R A M| A

SN B R S| EEE AR H | & | R O|EE|BL| K

L T 7 = o Il 117 B (R N I~ ) =8 e

mm m kg mm m kg mm m kg mm m kg kg m kg kg kg kg kg kg m m kg S

¢ 1000 | SKK490( 22 | 9.5 | 5045 22 19.5 [5045] - - | 1423] 23 6 7 - - 14 - 15.9 - 9
¢ 1000 | SKK400 15 (2.5 | 910 | 15 (9.0 |3276| 15 |11.5 |4186

%) SESHOBAITAEDETIAL LTHIT 5,

MR, BE LR 5,

RIS TRAS OEBER I, FUEERICHIBR N RERET 2L AICE T 5,

B MR, Y TY VI ROA =N EENRD,

s, . ST HfTofEERAT D,

RS AS O SE B SRS - BBNCHER 5,

BRIGTEHERT. WUOOMEICHITRERS 2 e 2 A B H T 5,

RXVUIED Y v T OEEREIF, Avikd U 7 El—moL2EE2FH T 5,
ZOMA BRI, Ty vy 77— b BB IEREOMN RS AR T 5,
10. FERIZONW T, BiEE - B2 L Ic8EqHT 5,

11 #BEFE o> W TIERRE T 5,

CRNS U A W




HUEEMB I T O W gy Hn b,

i rinE=1
HER | @YoB | kiR | vy F R
#
Dy, (mm) n lo (mm) | ! (mm) | /g (mm)
— 800 4 300 250 1,050
900 5 300 250 1,300
1,000 5 300 250 1,300
1,100 5 300 300 1,500
1,200 6 300 300 1,800
. 1,300 6 300 300 1,800
J o W) MELWE, Y v/ D13 SD295 DLE % 7o [ T4E
Dy E-FWSmm 16/ 32 SS400 HHMEERV B,
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s B K& O B H &
M i 45
JEERR R
( 11.700 X 2 + 10.200 X 2) X  2.500 = 109.5 Hin?
XA
{2 X (8500+ 4.000) + 88} X 11.500 = 388.7 Hn’
EH TS W = 498.2 Hin?
120 8500 200 1200, 4000 1200
00 0 00 00
| |
| |
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g | g g | g
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500 500 500 500
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Al g X K& O HOK o &
§ 9. T RKKE
(M fAE ) $200 X 1345
L = 1.345 X 4 2 10.8 m
$200 X 1240
L = 1.240 X 4 2 9.9 m
L 20.7 m
§ 10. MENHEEV IV
(1) P4fal
S t = 0.060 0.010 0.070 m
AT =RER
1.310 X 1.160 X  0.070 1.130 0.980 X  0.010 0.095 p
TR
n/4 X 0.200 X  0.200 1. 345 4 0.169 1
—x/4 X 0.090 X  0.090 1. 305 4 -0.033 '
Y 0.231 pf
V. = 0.231 2 At 0.462 p
(2) P6f
RSN t = 0.060 0.010 0.070 m
AT =RER ‘
1.300 X 0.930 X  0.070 1.120 0.750 X  0.010 0.076
TR
n/4 X 0.200 X  0.200 1. 240 4 0.156 p’
—x/4 X 0.085 X 0.085 1. 200 4 -0.027 1’
Y 0.205 p’
AV = 0.205 2 7T 0.410 ?
I HEE L2 VA FE
SV = 0.462 0.410 0.872 1
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PAERENMA (PSL) 322
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1610 1610
5 1310 5 1310
0 1130 9 0 1130 o
315 500 _ 315 315500 _ 315
aEED Y U—
_|<dB2 < A= 11 tR1
1 =) s
= i Zls
P = I =
& ! N =
f M !
i i
w 3 | Il 7on—dtntepo0 g g g
RS =
& ! V
{{ .
g L 2 Gl & 74" 54" 13"
tL? tR2 62 0=74° 547 27"
SRARAEEIL Z L 200 I
BESER
P41ZRI4E] (P5L) PGB AIE] (PSR)
a1 a2 al 62
SEPLE (h9) 170 172 131 133
LL1 151 153 162 164
L2 199 201 133 135
R1 141 143 129 131
tR2 189 191 100 102
XRLEERE -,
PASRARY (PSL) PEHF AR (P5RY
al [ al a2
B % @ & |EL1|  10.579 19648 19569 19. 633
MR+ FRED | hi 0.083 0.084 0.085 0.085
R W& |h 0.260 0.260 0.260 0.260
N T F & | 0,120 0.120 0120 0120
= it & (M 2.900 2.900 2.900 2.900
FI5>SE |5 0.026 0.026 0.030 0.026
V=L L—FZ| he 0,046 0.046 0.039 0.039
% & & | 0230 0.230 0752 0 252
=L 2 LE | he 0.030 0.030 0.030 0.030
SEa2U—F | ho 0.170 0.172 0131 0.133
w & & it | Zh 3.865 3.868 3.847 3.845
TELLIGES |EL2|  15.114 15.780 15.722 15. 788




fill 1l 1S & O K %
§11. av))-pEdE (GEfhRCC-B)

-

4500 X 1.000 X 2 9. 00

© X 4.000 X  1.000 12.57
T

4.500 X 4.000 18. 00

x/4 X 4.000° 12. 57

“1.310 X 1.160 X 2 -3.04

“1.300 X 0.930 X 2 2. 42

(1.610 + 1.460) X 2 X  0.170 1.04

(1.610 + 1.460) X 2 X  0.172 1. 06

(1.520 + 1.150) X 2 X  0.131 0.70

(1.520 4 1.150) X 2 X  0.133 0.71

a7 Y — NREmE A 50. 19
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§12. {E¥(+T

T il W B K O B ¥ &
(D) R +ab
1) AfEg V1 = 13.900 X 12.400 X  1.900 =| 327.5 o
2) B V2 = 13.900 X 12.400 X  2.160
1/4 X X 1.200°
X 0.400 X 9 =| 368.2 p
A VvV =| 695.7 q
(2) #H K
R PERR B
L 9.700 8.200 X  0.300 = 23.9 nf
JEEHR 9. 500 8.000 X  2.500 =| 190.0 y
B 1/4 X 40000+  4.500
4.000 ) X 1.260 =| 385 p
V= 252.4
13. 900 12.400 X 4.060 = 699.8 p°
e RHL R UiE4mll b
V. = 699.8 252. 4 =| 447.4 o
3) % L
V. = 695.7 447.4 X 1/0.9 =| 198.6 o
% C=0. 9 (HEHFR)
(4) HmEE
A = 9.700 8. 200
1/4 X T X 1.200°%X 9 =| 69.4 p
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§13. ERL

ol

[P SR O A=V

#

(1) HRR B OOk Tk

MR

# 3 Fotk | gxom | w2 [#uEzienxuvEsc s2ke | @mE

SR

Eili i ‘ mE! \ 9 000 ’ 132 | 60.0 ‘ 540.0 | 71 280 \ SY295
& E 71 280 kg

TR (J—Z#)

B L H-400x400x 13 x 21 12 850 2 200 2 570.0 5 140 SS400
" " 12 150 2 200 2 430.0 4 860 "
MITHER | H-300x300x10%15 6 070 4 100 607.0 2 428 S$S400
" " 3 950 4 100 395.0 1 580 "

" " 1 830 4 100 183.0 132 "

& B 14 740 kg
FEHH BEE 14.740 t
BIH (A) BE  (EMHMX22.0%) 3243 t
BIH (B) BE  (EMMx 40%) 0.5 t
A&t BE 18.573 t

¥ ORITERITE—R E LTH0emZERY 5.
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ol

[P SR O =V

#

(2) SRARFTIA

EA

L OAY Y FTHiAL R L = 9.0 m

RANIE N = 12

INE PN fE N = 4.0

TEES + B N J& )& (m) NfE XL

1 x+ 2 0.26 0. 52
2 At 2 0. 40 0.80
3 W+ 6 2. 20 13. 20
4 W+ 3 4.10 12. 30
5 R A 12 0.30 3. 60
6 R A 3 1. 74 5.22
it 9.00 35. 64

INEE PN N =35.64,9.00=4. 0
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P 6 MR ERFHR

T fil Fi pall HH il PST - Hf7 G ¥ 1
2>z Y—h S N FE BB o ck=30N/mm*  m’ —
o ck=24N/mm* 189. 61
JEE R o ck=30N/mm*  m’ 219. 06
o ck=24N/mm” m —
hE o ck=24N/mm’*  m’ 189. 61
o ck=30N/mm’*  m’ 219. 06
A F m’ 408. 67
) e — B O m” 114. 00
o m” 95. 00
— IR m” 209. 00
PR e R=1. 25m m’ 74.76
A i m” 283. 76
g i L SR e & D51 SD490 kg —
D41 SD490 kg —
D38 SD490 kg —
D35 SD490 kg —
& & SD490 kg —
FEAHAE T D51+D51 SD490 1 —
D41+D41 SD490 1 —
D38+D38 SD490 1 —
D35+ D35 SD490 1 —
D32+D32 SD490 1 —
D29+ D29 SD490 1 —
& & SD490 1l —
R E & D51 SD345 kg 34144
D41 SD345 kg —
D38 SD345 kg 8237
D35 SD345 kg 4516
D29~D32 SD345 kg 47608
D16~D25 SD345 kg 2735
A & SD345 kg 97240
FEAHAE T D51+D51 SD345 1 —
D41+D41 SD345 1 —
D38+ D38 SD345 1 42
A &F SD345 1 42
H A JEHE D35+D35 SD345 118 —
D32+ D32 SD345 1 —
D29+ D29 SD345 1 30
& & SD345 1 30
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P 6 MR ERFHR

T i Fil pall HH il PST - Hf7 ¥ & o o=
HLarzy—r a7 J—k it T o ck=18N/mm* 78. 27
e T AAA t=10cm m’ 7.83
U m” 3. 88
K ORE M A RC-40 t=20cm m* 78.27
B % T P 8 T Hn® 409. 6
SRR & R ¢ 200 m 17. 4
MV HEE /L & L E T b T m’ 1162 4 K
O ML BHEYANLEAS M)
NI %N 12
I - mm ¢ 1200
o R m 25.0
AR AN ] mm ¢ 1000
HE LR m 25.0
& 7% Y R m 42. 60 4 K
B bR — i & m 282. 00 I
E LR & m 25. 20 I
= 7t m 349. 80 I
Ay M & t 167. 52 I
WAL & 115 5 3 42E 4 kg 1776. 0 ”
k& T & AT 24 "
+ T %+ m’ 158. 4 I
S -} o ck=30N/mm*  m’ 16. 08 I
PUBRALER D35 SD490 kg 11904 i
D13 SD345 kg 1560 I
R kg 13464 I
HEHUE B A K SKK490 kg 63720 I
Uhm i ) SKK400 ke 52560 "
b Jm W $S400 kg 624 u
) kg 116904 I
MVERVMERE | ) -MEREE L 2R - RS o 63.6 y
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P 6 MR ERFHR

T fil Fi pall HH il PST - Hf7 G ¥ 1
E¥+T
Ko AFEIK + W m’ 286. 4
B fE " m’ 462. 4
& # m’ 748.8
R BKRMEREE - m’ 483.8
7 A m’ 211.2
KL FEIE m” 78.3
{BC B T
R R \gi SY295 kg —
Ay SY295 kg 79230
2N A - 514k L=9. 5m 8 139
Xk L FEBAA U — A kg 20520
BIEBAL (A) kg 4514
BIIEBAL (B) kg 821
A & kg 25855
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1IF |
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& &F SD490 & -
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VN e i — 12
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‘ t=10mm | m 2.5 30. 0 SKK400 4} 2
&l .
o okt
,; t=10mm | m 9.0 108.0 SKK400 £ Zeit
T t=10mm | m 9.0 108.0 SKK400 £ Zeit
it m 27.5 330. 0
7= g & m 3.50 42.00
£ E R — A & m 26. 00 312. 00
G
5 B b AR & m 2.10 25. 20
it m 31. 60 379. 20
ZEPRES | — 2 —
JINEE -4 NAE — — 14 —
e | — 64 —
ZEPE |t 0.68 8. 16
AU NMERE | | Ot 10. 14 121. 68
JedmdEs |t 4.10 49. 20
WINAIE A & kg 324. 6 3895. 2 EA AR
HEFE AT & A 2 24
% %+ s 14.3 171.6 JEH 1D 40%
HEEH a7 U —h m’ 1.39 16. 68 o ck=30N/mm?
b D35 kg 551 6612 SD490
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B D13 kg 70 840 SD345
i
T & E kg 621 7452
VA A S MR o 5.4 64.8 Jetfy, - FPEEED
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2) $HEIEA/ T
B : Ds 1.200 m
MERE : Dp 1. 000 m
MERE : Lp 27.500 m
JEHER : Le=L1+L2+L3 31.600 m
BEALASCsRE R © L3=1. 5Dp+0. 5Ds 2.100 m
H#E . L0=0.5Ds 0. 600 m
BUL A« L2=Lp+L0-L3 26. 000 m
ZeREE L1 3.500 m
PEER: (m) | INEE PR NAHE
Ze i 3. 500 2
AR — i = 26. 000 14
LA S i e 2. 100 64
B 31. 600
3) TAVMER & Fi1 AN & A2 MEFAR K=0.15
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1/4 X T X 1.200 1.200 X 3.500 X
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AR AR (L2)
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(1 + K) =| 10.14 t
[ AR SE s (L3)
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(1) HRR B OOk Tk

MH =

e | mHkers | sxom | %8 [strstenix2yE80) HEG | @E

ERAEI

@xR | mE | 950 |19 | 6.0 | 500 | 79230 [ svass
=1 79 230 kg

FRT (J—24)

BB # L | H-500x500x25x 25 14 150 2 300 4 245.0 8 490 SS400
" " 12 150 2 300 3 645.0 7 290 "
KITHE | H-300%300x10%x15 6 070 4 100 607.0 2 428 SS400
" " 3 950 4 100 395.0 1 580 "

1 " 1 830 4 100 183.0 732 "

= 20 520 kg
FEH EE 20.520
BIEH (A) BE  (TEHx220%) 4514
BIEH (B) BE (TEHx 40%) 0821
&5t E= 25.855

¥ RITHRMFE—R &L TH0emZRRT 5.
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(2) SRARFTIA

EA

L OARY VAT HIAL R L = 9.5 m

R NAHE N = 27

INEE LS N AE N = 8.2

TEES + B N & J& )% (m) NE X L

1 #F+ 2 0. 32 0. 64
2 T+ 2 3.15 6. 30
3 WE+ 3 1. 20 3.60
4 WE+ 14 4. 83 67. 62
s 9.50 78. 16

JNEE 4 N N=78.16,79.500=8. 2
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